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Seat No.: ________                                                           Enrolment 

No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–I (CtoD) • EXAMINATION – SUMMER • 2014 

Subject Code: C300007 Date: 20-06-2014        

Subject Name: Basic Engineering Drawing 

Time: 10:30 am – 12:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions. 

2. Make suitable assumption wherever necessary. 

3. Each question is of 1 mark. 

4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed) 

5. English version is authentic. 

No. Question Text and Option 

1.  The included angle of a pentagon is  

A. 120˚ B. 60˚ 

C. 108˚ D. 72˚ 

2. When two angles together make 90º, they are called 

A. obtuse angle B. reflex angle 

C. complementary angles D. supplementary angles 

3. Lettering on a drawing sheet should have 

A. all alphabets in capital letters B. all alphabets in small letters 

C. In a sentence only first alphabet 

in capital letter 

D. In a sentence only abbreviations are 

capital letter 

4. Three circle method is used to draw 

A. Pentagon  B. Hexagon  

C. Octagon  D. Heptagon  

5. The dimension figure for radius of a circle should be preceded by 

A. R B. SR 

C. CR D. RAD 

6. Line composed of closely and evenly spaced short dashes in a drawing represents 

A. visible edges B. hidden edges 

C. hatching D. pitch circle of gears 

7. If  a point P lies in the 3
rd

 quadrant, it will be 

A. Above HP & in front of VP B. Above HP & behind VP 

C. Below HP & in front of VP D. Below HP & behind of VP 

8. Methods of arrangement of dimensions includes 

A. Parallel, continuous and 

combined 

B. Perpendicular, parallel and combined 

C. Perpendicular, continuous and 

combined 

D. Perpendicular, parallel and continuous 

9. The included angle of a hexagon is 

A. 30˚ B. 60˚ 

C. 120˚ D. 150˚ 

10. The curve generated by a point on the circumference of a circle, which rolls without 

slipping along outside of another circle is known as 

A. Hypocycloid B. Epicycloid 

C.  Cycloid D. Trochoid 

11. In orthographic projections, the rays are assumed to 

A. diverge from station point B. converge from station point 

C. be parallel D. None of these 

12. The profile of a gear teeth is in the form of 

A. parabola B. involute 
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C. spiral D. helix 

13. The recommended method of dimensioning a sphere with diameter 80 mm is 

A. 80фS B. ф80S 

C. S80ф D. Sф80 

14. A square lamina in isometric projection appears as 

A. Rhombus B. Rectangle 

C. Trapezium D. Parallelogram 

15. In isometric projection, the four centre method is used to construct 

A. an ellipse B. a square 

C. a triangle D. a rectangle 

16. Top view is projected on the 

A. Vertical Plane B. Corner Plane 

C. Side Plane D. Horizontal Plane 

17. In orthographic projection, visual rays or lines of sight for a given view are 

_____________ to each other. 

A. Perpendicular  B. Oblique  

C. Normal  D. Parallel  

18. The top and right side views in orthographic projection, have what common 

dimension(s)? 

A. height and length B. length and depth 

C. height D. depth 

19. The sequence for the direction of view (or line of sight) for any orthographic 

projection in 1
st
 angle projection method is: 

A. eye of observer>projection 

plane>object 

B. eye of observer>object>projection 

plane 

C. projection plane>eye of 

observer>object 

D. None of the above 

20. Which of the following pairs of orthographic views both show the height dimension? 

A. left side and front B. top and front 

C. top and rear D. bottom and right side 

21. For measurement and drawing an angle __________ is used. 

A. Scale  B. Protractor  

C. Tee-square D. Divider  

22. Which types of line is used to draw dimension lines? 

A. Long chain thin B. Long chain thick 

C. Continuous thin D. Continuous thick 

23. Which types of lines is used to draw centre lines? 

A. Long chain thin B. Long chain thick 

C. Continuous thin D. Continuous thick 

24. In which system, dimensioning is done in such way that it can be read from bottom or 

right side? 

A. Aligned system B. Unidirectional system 

C. Both  D. None of above 

25. Dimensions giving close to each other and in a straight is called 

A. Chain dimensioning B. Parallel dimensioning 

C. Combine dimensioning D. None of the above 

26. The sum of external angles of regular polygons is 

A. 120˚ B. 360˚ 

C. 180˚ D. 60˚ 

27. Universal circle method is used for drawing 

A. Only regular pentagon B. Only regular hexagon 

C. Only regular octagon D. All of the above 

28. By a cutting plane passing through the apex of the cone vertically ______ is obtained. 

A. Triangular section B. Parabola  

C. Hyperbola  D. Ellipse  
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29. The directrix- focus method is used to draw 

A. Ellipse  B. Parabola  

C. Hyperbola  D. All of the above 

30. The locus of a point on the circumference of a circle which rolls without slipping on a 

fixed straight line is called 

A. Epicycloids  B. Cycloid  

C. Hypocycloids  D. None of the above 

31. In which system, dimensioning is done in such way that it can be read from bottom 

only? 

A. Aligned system B. Unidirectional system 

C. Both  D. None of above 

32. The method of giving dimensions from one datum feature, in one direction is called 

A. Chain dimensioning B. Parallel dimensioning 

C. Combine dimensioning D. None of the above 

33. By cutting plane passing through parallel to any one generator of the cone, _________ 

is obtained. 

A. Triangular section B. parabola 

C. hyperbola D. ellipse 

34. Concentric circle method is used to draw 

A. Circle  B. Parabola  

C. Hyperbola  D. Ellipse  

35. If a point P is above HP and in front of VP then, Point P is in _______ quadrant. 

A. 1
st
  B. 2

nd
  

C. 3
rd

  D. 4
th

  

36. Which is not a principal view? 

A. Bottom  B. Left side  

C. Auxiliary  D. Front  

37. Which pencil is darker? 

A. H B. 2H 

C. HB D. 4H 

38. In 3
rd

 angle projection system, the right hand side view of an object is drawn 

A. Above of the elevation B. Right side of the elevation 

C. Below of the elevation D. Left side of the elevation 

39. Projection of an object shown by three views is known as 

A. Perspective  B. Oblique  

C. Isometric  D. Orthographic  

40. Which one is the full scale? 

A. 1:1 B. 1:4 

C. 1:2 D. 2:1 

41. In which dimensioning system, dimension line is cut at the centre and value is placed 

in between? 

A. Aligned system B. Unidirectional system 

C. Both  D. None of above 

42. The recommended method of dimensioning a circle with diameter 60 mm is 

A. Ø30 B. Ø60 

C. 60 Ø D. 30 Ø 

43. The sequence for the direction of view (or line of sight) for any orthographic 

projection in 3
rd

 angle projection method is: 

A. eye of observer>projection 

plane>object 

B. eye of observer>object>projection 

plane 

C. projection plane>eye of 

observer>object  

D. None of the above 

44. In directrix- focus method if eccentricity (e) is less than 1, then ______ is obtain. 

A. Ellipse  B. Parabola 

C. Hyperbola  D. None of the above 
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45. The locus of a point on the circumference of a rolling circle which rolls inside the 

directing circle without slipping, is called 

A. Epicycloids  B. Cycloid  

C. Hypocycloids  D. None of the above 

46. If a point P is below HP and behind of VP then, Point P is in _______ quadrant. 

A. 1
st
  B. 2

nd
  

C. 3
rd

  D. 4
th

  

47. In 1
st
 angle projection system, the left hand side view of an object is drawn 

A. Above of the elevation B. Right side of the elevation 

C. Below of the elevation D. Left side of the elevation 

48. What is the size of title block in the drawing sheet? 

A. 185×65 B. 20×100 

C. 190×130 D. 100×180 

49. If point P is on both HP and VP then, its projection will be 

A. On HP B. On xy line 

C. On VP D. None of the above 

50. If  a point P lies in the 2
nd

 quadrant, it will be 

A. Above HP & in front of VP B. Above HP & behind VP 

C. Below HP & in front of VP D. Below HP & behind of VP 

51. In directrix- focus method if eccentricity (e) is greater than 1, then ______ is obtain. 

A. Ellipse  B. Parabola 

C. Hyperbola  D. None of the above 

52. Which one is the reduced scale? 

A. 1:1 B. 5:1 

C. 1:2 D. 2:1 

53. If the line PQ is parallel to VP and inclined to HP then, its true length will be shown in 

A. HP B. VP 

C. Both HP and VP D. None of the above 

54. Which one of the following methods is used to draw ellipse 

A. Four centre method B. Directix focus method 

C. Arc of circle methods D. All of the above 

55. If the circular plane is resting on HP and perpendicular to VP then its elevation will be 

shown as a 

A. Circle  B. Line  

C. Ellipse  D. None of the above 

56. The isometric lines becomes shorter in isometric projection in the proportion  

A. √2:√3 B. √3:√4 

C. √5:√8 D. 2:3 

57. Centre line are drawn as 

A. Continuous narrow lines B. Dashed narrow lines 

C. Long dashed dotted narrow lines D. Long dashed double dotted narrow 

lines 

58. The length to height ratio of an closed filled arrow head is 

A. 1:3 B. 3:1 

C. 1:2 D. 2:1 

59. Two recommended systems of placing the dimensions are 

A. Unidirectional and aligned 

systems 

B. Upright and inclined systems 

C. Linear and oblique systems D. Linear and inclined systems 

60. The isometric view of a sphere is always 

A. A circle  B. An ellipse 

C. A parabola D. A semi circle 

61. The diagonals of a rhombus bisect each other at _________ angles. 

A. Acute  B. Right  

C. Obtuse  D. Reflex  
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62. By a cutting plane passing perpendicular to the axis of a cone, ______ is obtained. 

A. Circle  B. Parabola  

C. Hyperbola  D. Ellipse  

63. If a circular plane is inclined to  HP and perpendicular to VP then its top view will be 

A. Circle  B. Parabola  

C. Hyperbola  D. Ellipse  

64. By a cutting plane passing parallel to the axis of a cone, ______ is obtained. 

A. Triangular section B. Parabola  

C. Hyperbola  D. Ellipse  

65. Which one of the following gives the true shape of the object? 

A. Oblique projection  B. Perspective projection 

C. Isometric projection D. None of the above 

66. In 3
rd

 angle projection method, top view comes 

A. Below front view B. Above front view 

C. Left side of front view D. Right side of front view 

67. If point X is below HP and in front of VP then, it will be in 

A. 1
st
  B. 2

nd
  

C. 3
rd

  D. 4
th

  

68. In directrix- focus method if eccentricity (e) is equal to 1, then ______ is obtain. 

A. Ellipse  B. Parabola 

C. Hyperbola  D. None of the above 

69. Hidden lines are drawn as 

A. dashed narrow lines B. dashed wide lines 

C. long-dashed dotted wide line D. long-dashed double dotted wide line 

70. Which of the following pairs of orthographic views both show the length dimension? 

A. Left side and front B. Top and front 

C. Top and left side D. Bottom and right side 

 

************** 

ગજુયાતી 
ન.ં પ્રશ્ન તેભજ વલકલ્઩ 
1. ઩ેન્ટગ૊નન૊ સભાવલષ્ટ ખણુ૊ 

A.  ૧૨૦˚ B. ૬૦˚ 
C. ૧૦૮˚ D.  ૭૨˚ 

2. જ૊ ફે ખણુા સાથે ભ઱ીને ૯૦˚ ન૊ ખણુ૊ ફનાલે ત૊ તેભને ________ કેહલામ. 
A.  ગરુુક૊ણ B. પ્રવતબફિંફ ક૊ણ 
C. પયૂકક૊ણ D.  સપ્રીભેન્રી ક૊ણ 

3. ડ્ર૊ઈંગ ળીટભા ફધા જ અક્ષયૉ ________ ભા હ૊લા જ૊ઈએ. 
A.  કેવ઩ટર અક્ષયૉ B. સ્ભ૊ર અક્ષયૉ 
C. લાક્યભા ભાત્ર પ્રથભ અક્ષય કેવ઩ટ્ર D.  લાક્યભા ભાત્ર એબ્રેએબ્રેલેળન્સ જ કેવ઩ટ્ર 

4. ત્રણ લર્ુ઱ુની ઩ધ્ધવત  ________ દ૊યલા ભાટે લ઩યામ છે. 
A.  ઩ચંક૊ણ B. સષ્ટ્ક૊ણ 
C. અષ્ટક૊ણ D.  સપ્તક૊ણ 

5. એક લર્ુ઱ુની વત્રજ્મા દળુલલા ભાટે ઩રયભાણ આંકડ૊ ઩હરેા_ં_______ હ૊વ ુજ૊ઈએ. 
A. R B. SR 

C. CR D. RAD 

6. એક બચત્ર ભા ંનજીકથી અને સયખા અંતયે ટૂંકા ડળે૊ ફનેરા          ________યેખા યજૂ કયે છે. 
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A.  દ્ર્શ્મભાન ધાય  B. રહડન ધાય 
C. હબેચિંગ D.  બગમયન૊ ઩ીચ સકુર 

7. જ૊ ઩૊ઈંટ P ત્રીજા ચયણભા ંહ૊મ, ત૊ ત ે________ હળે. 
A.  HP ની ઉ઩ય અને VP ની આગ઱ B. HP ની ઉ઩ય અને VP ની ઩ાછ઱ 
C. HP ની નીચે અને VP ની આગ઱ D.  HP ની નીચે અને VP ની ઩ાછ઱ 

8. ડામભેન્ળન દળાુલલા ભાટે ________ ઩દ્ધવતન૊ સભાલળે થામ છે 
A.  સભાતંય, સતત અને સયંકુ્ત B. રફં, સભાતંય અને સયંકુ્ત 
C. રફં, સતત અને સયંકુ્ત D.  રફં, સભાતંય અને સતત 

9. હકે્ઝાગ૊નન૊ સભાવલષ્ટ ખણુ૊ 
A.  ૩૦˚ B. ૬૦˚ 
C. ૧૨૦˚ D.  ૧૫૦˚ 

10. એક લર્ુ઱ુ કે જે ફીજા લર્ુ઱ુ ઩ય ફહાયની ફાજુથી સ્રી઩ થમા લગય ચાર ેછે, તેના ઩યીઘ 
઩યના બફિંદુ દ્વાયા તૈમાય થમેરા લ઱ાકં્ને ________ કહ ેછે. 
A.  હામ઩૊સામક્ર૊ઈડ B. એ઩ીસામક્ર૊ઈડ 
C. સામક્ર૊ઈડ D.  ર૊ક૊ઈડ 

11. ઓયથ૊ગ્રારપક પ્ર૊જેક્ળનભા રકયણ૊                 ________ ધાયલાભા આલે છે. 
A.  સ્ટેળન બફિંદુ ઩યથી જુદા ઩ડતા B. સ્ટેળન બફિંદુ ઩યથી બેગા થતા 
C. સભાતંય D.  આભાથી એક્઩ણ નહી 

12. ગીમય ટથૂની પ્ર૊પાઈર       ________ જેલી હ૊મ છે. 
A.  ઩ેયાફ૊રા  B. ઈનલ૊લ્યટુ 
C. સ્઩ાઈયર D.  હરેીક્સ 

13. ૮૦ ભીભી લા઱ા ગ૊઱ાન ુભા઩ કઈ ઩ધ્ધવતથી દળાુલલાભા આલે છે. 
A. 80фS B. ф80S 

C. S80ф D. Sф80 

14. આઇસ૊ભેરરક પ્રક્ષે઩ણભા એક ચ૊યસ ઩ડ ________ તયીકે દેખામ છે. 
A.  સભફાજુ ચર્ષુ્ક૊ણ B. રફંચ૊યસ 
C. રે઩ેઝીમભ D.  સભાતંયફાજુ ચર્ષુ્ક૊ણ 

15. આઇસ૊ભેરરક પ્રક્ષે઩ણભા પ૊ય સેંટય ભેથડન૊ ઉ઩મ૊ગ ________ દ૊યલા ભાટે થામ છે. 
A.  ઈરીપ્સ B. ચ૊યસ 
C. વત્રક૊ણ D.  રફંચ૊યસ 

16. ઊ઩યન૊ દેખાલ ________ ઩ય પ્ર૊જેકટ કયલાભા આલ ેછે. 
A.  ઊબી સ઩ાટી B. ખણુાની સ઩ાટી 
C. ફાજુની સ઩ાટી D.  આડી સ઩ાટી 

17. ઓથોગ્રાપીક પ્રક્ષ઩ેણભા આ઩ેર દ્ર્મ ભાટે દ્ર્મ રકયણ૊ અથલા દૃષ્ષ્ટ યેખાઓ એકફીજા સાથ ે
________ હ૊મ છે. 
A.  રફં B. ત્રાસંા 
C. સભાન્મ D.  સભાતંય 

18. ઓથોગ્રાપીક પ્રક્ષ઩ેણભા, ઊ઩યના દેખાલ અને જભણી ફાજુના દેખાલભા કમા સયખા ભા઩ હ૊મ 
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છે?  
A.  ઊંચાઈ અને રફંાઈ B. રફંાઈ અન ે઩હ૊઱ાઈ 
C. ઊંચાઈ D.  ઩હ૊઱ાઈ 

19. પ્રથભ ક૊ણ પ્રક્ષે઩ણ ઩ધ્ધવતભા ક૊ઈ ઩ણ ઓથોગ્રપીક પ્રક્ષે઩ણભા ંજ૊લાની રદળા ________ 
ક્રભભા ંહ૊મ છે. 
A.  ઓબ્સેલુયની આંખ > પ્રક્ષે઩ણ 

સ઩ાટી>લસ્ર્ ુ
B. ઓબ્સેલુયની આંખ > લસ્ર્ ુ> પ્રક્ષે઩ણ 

સ઩ાટી 
C. પ્રક્ષે઩ણ સ઩ાટી > ઓબ્સેલયુની 

આંખ > લસ્ર્ ુ
D.  આભાથી એકેમ નરહ 

20. ઓથોગ્રપીક પ્રક્ષે઩ણભા ંનીચનેાભાથી કંઈ ફને્ન દેખાલની જ૊ડી ઊંચાઈન ુભા઩ દળાુલે છે. 
A.  ડાફી ફાજુન૊ દેખાલ અને સાભેન૊ 

દેખાલ 
B. ઊ઩યન૊ દેખાલ અને સાભેન૊ દેખાલ 

C. ઊ઩યન૊ દેખાલ અને ઩ાછ઱ન૊ 
દેખલ 

D.  નીચેન૊ દેખાલ અને જભણી ફાજુન૊ દેખાલ 

21. ખણુ૊ ભા઩લા અને દ૊યલા ભાટે ________ લ઩યામ છે. 
A.  સ્કેર B. ક૊ણભા઩ક 
C. ટી- સ્ક્લેય D.  ડીલાઈડય 

22. ડામભેંળન રાઈન દ૊યલા ભાટે કમા પ્રકાયની રાઈનન૊ ઉ઩મ૊ગ થામ છે. 
A.  રોંગ ચેઈન થીન B. રોંગ ચેઈન થીક 
C. કષ્ન્ટન્યસુ થીન D.  કષ્ન્ટન્યસુ થીક 

23. સેન્ટય રાઈન દ૊યલા ભાટે કમા પ્રકાયની રાઈનન૊ ઉ઩મ૊ગ થામ છે. 
A.  રોંગ ચેઈન થીન B. રોંગ ચેઈન થીક 
C. કષ્ન્ટન્યસુ થીન D.  કષ્ન્ટન્યસુ થીક 

24. કઈ ઩ધ્ધવતભા ભા઩ એલી યીતે રખલાભા આલે છે કે જેથી તેને નીચથેી અથલા જભણી ફાજુથી 
જ લાચંી ળકામ? 
A.  અરાઈન ઩ધ્ધવત B. યવુનડામયેક્ળન ઩ધ્ધવત 
C. ફન્ન ે D.  આભાથી એક ઩ણ નરહ 

25. એક સીધી યેખાભા એકફીજાની નજીક આ઩લાભા ંઆલતા ડામભેન્ળનને ________ કહ ેછે. 
A.  ચઈેન ડામભેન્ળનીંગ B. ઩ેયેરર ડામભેન્ળનીંગ 
C. કમ્ફાઈન ડામભેન્ળનીંગ D.  આભાથી એક ઩ણ નરહ 

26. યેગ્યરુય ઩૊રીગ૊નના ફહાયના ખણુાઓન૊ સયલા઱૊ ________ થામ છે. 
A.  ૧૨૦˚ B. ૩૬૦˚ 
C. ૧૮૦˚ D.  ૬૦˚ 

27. યવુનલસુર સકુર ભેથડન૊ ઊ઩મ૊ગ ________ દ૊યલા ભાટે થામ છે. 
A.  પક્ત યેગ્યરુય ઩ેન્ટગ૊ન B. પક્ત યેગ્યરુય હકે્સાગ૊ન 
C. પક્ત યેગ્યરુય ઓક્ટગ૊ન D.  ઉ઩યના ફધા જ 

28. જ૊ કટીંગ પ્રને ળકુંના એ઩ેક્ષભાથી લટીકરી ઩સાય થામ ત૊ ________ ભ઱ે છે. 
A.  વત્રક૊ણ સેક્ળન B. ઩ેયાફ૊રા 
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C. હામ઩યફ૊રા D.  ઈરીપ્સ 
29. ડમયેક્રીક્સ પ૊કસ ભેથડ ________ દ૊યલા ભટે લ઩યામ છે. 

A.  ઈબરપ્સ B. ઩ેયાફ૊રા 
C. હામ઩ય ફ૊રા D.  આભાથી ફધા જ 

30. એક લર્ુ઱ુ કે જે એક સીધી યેખા ઩ય સ્રી઩ થમા લગય ચારે છે, તેના ઩યીઘ ઩યના બફિંદુ દ્વાયા 
તૈમાય થમેરા લ઱ાકં્ન ે________ કહ ેછે. 
A.  એ઩ીસામક્ર૊ઈડ B. સામક્ર૊ઈડ 
C. હામ઩૊સામક્ર૊ઈડ D.  આભાથી એક ઩ણ નરહ 

31. કઈ ઩ધ્ધવતભા ભા઩ એલી યીતે રખલાભા આલે છે કે જેથી તેને નીચથેી જ લાચંી ળકામ? 
A.  અરાઈન ઩ધ્ધવત B. યવુનડામયેક્ળન ઩ધ્ધવત 
C. ફન્ન ે D.  આભાથી એક ઩ણ નરહ 

32. એક જ રદળાભા,ં ભાત્ર એક જ datum ઩૊ઈંટ્થી ડામભેન્ળન આ઩લાની ઩દ્ધવતને ________ 
કહલેામ છે. 
A.  ચઈેન ડામભેન્ળનીંગ B. ઩ેયેરર ડામભેન્ળનીંગ 
C. કમ્ફાઈન ડામભેન્ળનીંગ D.  આભાથી એક ઩ણ નરહ 

33. જ૊ કટીંગ પ્રને ળકુંના ક૊ઈ઩ણ એક જનયેટયને સભાતંય ઩સાય થામ ત૊ ________ ભ઱ે છે. 
A.  વત્રક૊ણ સેક્ળન B. ઩ેયાફ૊રા 
C. હામ઩યફ૊રા D.  ઈરીપ્સ 

34. ક૊ન્સેન્રીક સકુર ભેથડન૊ ઉ઩મ૊ગ________ દ૊યલા ભાટે થામ છે. 
A.  સકુર B. ઩ેયાફ૊રા 
C. હામ઩યફ૊રા D.  ઈરીપ્સ 

35. જ૊ ઩૊ઈંટ P, HP ની ઉ઩ય અને VP ની આગ઱ હ૊મ, ત૊ ઩૊ઈંટ P ________ ચયણભા ંહળે. 
A.  પ્રથભ B. ફીજા 
C. ત્રીજા D.  ચ૊થા 

36. નીચેનાભાથી કમ૊ વપ્રન્ન્સ઩ર વ્ય ુનથી. 
A.  નીચેન૊ દેખાલ B. ડાફીફાજુન૊ દેખાલ 
C. ઓન્ક્સરયી દેખાલ D.  સાભેન૊ દેખાલ 

37. કંઈ ઩ેન્ન્સર ઘાટી છે?  
A. H B. 2H 

C. HB D. 4H 

38. થડુ એન્ગર પ્ર૊જેક્ળન વસસ્ટભભા જભણી ફાજુન૊ દેખાલ ________ દ૊યલાભા આલ ેછે. 
A.  એરીલેળનની ઉ઩ય B. એરીલેળનની જભણી ફાજુ 
C. એરીલેળનની નીચ ે D.  એરીલેળનની ડાફી ફાજુ 

39. ક૊ઈ઩ણ લસ્ર્નુ ુપ્ર૊જેક્ળન ત્રણ વ્ય ુદ્વાયા દળાુલલાભા આલે ત૊ તેને  ________ કહ ેછે. 
A.  ઩યસ્઩ેક્ટીલ પ્ર૊જેક્ળન B. ઓબ્રીક પ્ર૊જેક્ળન 
C. આઈસ૊ભેરીક પ્ર૊જેક્ળન D.  ઓથોગ્રાપીક પ્ર૊જેક્ળન 

40. નીચેનાભાથંી કય ુફુર સ્કેર છે. 
A. 1:1 B. 1:4 

C. 1:2 D. 2:1 
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41. કઈ ડામભેન્ળન ઩ધ્ધવતભા ડામભેન્ળન રાઈનન ેલચ્ચથેી કટ કયીને લચ્ચે ડમભેન્ળન રખલાભા 
આલે છે?  
A.  અરાઈન ઩ધ્ધવત B. યવુનડામયેક્ળન ઩ધ્ધવત 
C. ફન્ન ે D.  આભાથી એક ઩ણ નરહ 

42. ૬૦ ભીભી લા઱ા લર્ુ઱ુન ુભા઩ કઈ ઩ધ્ધવતથી દળાુલલાભા આલે છે. 
A. Ø30 B. Ø60 

C. 60 Ø D. 30 Ø 

43. ક૊ઈ ઩ણ ઓથોગ્રપીક પ્રક્ષે઩ણભા,ં થડુ એન્ગર પ્રક્ષે઩ણ ઩ધ્ધવતભા જ૊લાની રદળા ________ 
ક્રભભા ંહ૊મ છે. 
A.  ઓબ્સેલુયની આંખ > પ્રક્ષે઩ણ 

સ઩ાટી>લસ્ર્ ુ
B. ઓબ્સેલુયની આંખ > લસ્ર્ ુ> પ્રક્ષે઩ણ 

સ઩ાટી 
C. પ્રક્ષે઩ણ સ઩ાટી > ઓબ્સેલયુની 

આંખ > લસ્ર્ ુ
D.  આભાથી એકેમ નરહ 

44. ડામયેષ્ક્રક્સ પ૊કસ ભેથડભા ંજ૊ એસેન્રીવસટી ૧ કયતા ઓછી હ૊મ ત૊ ________ ભ઱ે છે. 
A.  ઈબરપ્સ B. ઩ેયાફ૊રા 
C. હામ઩ય ફ૊રા D.  આભાથી એક઩ણ નહી 

45. એક લર્ુ઱ુ કે જે ફીજા લર્ુ઱ુ ઩ય અંદયની ફાજુથી સ્રી઩ થમા લગય ચાર ેછે, તેના ઩યીઘ 
઩યના બફિંદુ દ્વાયા તૈમાય થમેરા લ઱ાકં્ને ________ કહ ેછે. 
A.  એ઩ીસામક્ર૊ઈડ B. સામક્ર૊ઈડ 
C. હામ઩૊સામક્ર૊ઈડ D.  આભાથી એક ઩ણ નરહ 

46. જ૊ ઩૊ઈંટ P, HP ની નીચે અને VP ની ઩ાછ઱ હ૊મ, ત૊ ઩૊ઈંટ P ________ ચયણભા ંહળે. 
A.  પ્રથભ B. ફીજા 
C. ત્રીજા D.  ચ૊થા 

47. પ્રથભ એન્ગર પ્ર૊જેક્ળન વસસ્ટભભા ંડાફી ફાજુન૊ દેખાલ ________ દ૊યલાભા આલે છે. 
A.  એરીલેળનની ઉ઩ય B. એરીલેળનની જભણી ફાજુ 
C. એરીલેળનની નીચ ે D.  એરીલેળનની ડાફી ફાજુ 

48. ડ્ર૊ઈંગળીટભા ંટાઈટર બ્ર૊કની સાઈઝ કેટરી હ૊મ છે?  
A. 185×65 B. 20×100 

C. 190×130 D. 100×180 

49. જ૊ ઩૊ઈંટ P, HP અને VP ફન્ને ઩ય હ૊મ, ત૊ તેન ુપ્ર૊જેક્ળન ________ ભ઱ળે. 
A.  HP ઩ય B. XY યેખા ઩ય 
C. VP ઩ય D.  આભાથી એક઩ણ નહી 

50. જ૊ ઩૊ઈંટ P ફીજા ચયણભા હ૊મ, ત૊ તે ________ હળે. 
A.  HP ની ઉ઩ય અને VP ની આગ઱ B. HP ની ઉ઩ય અને VP ની ઩ાછ઱ 
C. HP ની નીચે અને VP ની આગ઱ D.  HP ની નીચે અને VP ની ઩ાછ઱ 

51. ડામયેષ્ક્રક્સ પ૊કસ ભેથડભા ંજ૊ એસેન્રીવસટી ૧ કયતા લધાયે હ૊મ ત૊ ________ ભ઱ે છે. 
A.  ઈબરપ્સ B. ઩ેયાફ૊રા 
C. હામ઩ય ફ૊રા D.  આભાથી એક઩ણ નહી 

52. નીચેનાભાથંી કઈ યીડયસુ સ્કેર છે. 
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A. 1:1 B. 5:1 

C. 1:2 D. 2:1 

53. જ૊ રાઈન PQ, VP ને સભાતંય અને HP ને ત્રાસંી હ૊મ, ત૊ રાઈન PQ ની સાચી રફંાઈ 
______ ભા ંદેખાળે. 
A.  HP B. VP 
C. HP અને VP ફન્નેભા ં D.  આભાથી એક઩ણ નહી 

54. નીચેનાભાથંી કઈ ઩ધ્ધવત ઈરીપ્સ દ૊યલા ભાટે લ઩યામ છે. 
A.  પ૊ય સેન્ટય ભેથડ B. ડામયેષ્ક્રક્સ પ૊કસ ભેથડ 
C. આકુ ઓપ સકુર ભેથડ D.  ઉ઩યની ફધી જ 

55. જ૊ લર્ુ઱ુાકાય પ્રેન HP ઩ય ઩ડરે૊ હ૊મ અને VP ને રફં હ૊મ ત૊ તેન૊ સાભેન૊ દેખાલ ______ 
દેખાળે. 
A.  લર્ુ઱ુ B. યેખા 
C. ઈબરપ્સ D.  આભાથી એક઩ણ નહી 

56. આઈસ૊ભેરીક પ્ર૊જેક્ળનભા, આઈસ૊ભેરીક યેખાઓ ______ના પ્રભાણભા ંટકૂી થામ છે. 
A. √2:√3 B. √3:√4 

C. √5:√8 D. 2:3 

57. સેન્ટય રાઈન આ યીતે દ૊યલભા ંઆલ ેછે. 
A.  સતત સાકંડી યેખાઓ B. ર્ટૂક સાકંડી યેખાઓ 
C. રાફંા ર્ટૂક ડ૊ટેડ સાકંડી યેખાઓ D.  રાફંા ર્ટૂક ડફર ડ૊ટેડ સાકંડી યેખાઓ 

58. એક ફધં તીય ના બયલાભા ંઆલેરા ભાથાના રફંાઈ અને ઊંચાઈ ન૊ ગણુ૊ત્તય ______ છે. 
A. 1:3 B. 3:1 

C. 1:2 D. 2:1 

59. ડામભેન્ળન આ઩લાની ફે બરાભણ ઩ધ્ધવતઓ ______ છે. 
A.  યવુનડામયેક્ળન અન ેએરાઈન્ડ 

઩ધ્ધવત 
B. અ઩યાઈટ અને ઈનક્રાઈન્ડ ઩ધ્ધવત 

C. રીનીમય અને ઓબ્રીક ઩ધ્ધવત D.  રીનીમય અને ઈનક્રાઈન્ડ ઩ધ્ધવત 
60. ગ૊઱ાન૊ આઈસ૊ભેરીક વ્ય ુહભેંળા ______ જ દેખામ. 

A.  લર્ુ઱ુ B. ઈબરપ્સ 
C. ઩ેયાફ૊રા D.  અધુલર્ુ઱ુ 

61. સભફાજુ ચર્ષુ્ક૊ણના વલકણો એકફીજાને ______ ખણૂ ેદુબાગે છે. 
A.  રઘકુ૊ણ B. રફં 
C. ગરુુક૊ણ D.  યીફ્રેક્ષ 

62. જ૊ કટીંગ પ્રને ળકુંના એક્ષીસને રફં ઩સાય થામ ત૊ ________ ભ઱ે છે. 
A.  લર્ુ઱ુ B. ઩ેયાફ૊રા 
C. હામ઩યફ૊રા D.  ઈરીપ્સ 

63. જ૊ એક લર્ુ઱ુાકાય પ્રેન HPને ત્રાસં૊ હ૊મ અન ેVP ને રફં હ૊મ ત૊ તેન૊ ઉ઩યન૊ દેખાલ 
______ દેખાળે. 
A.  લર્ુ઱ુ B. ઩ેયાફ૊રા 
C. હામ઩યફ૊રા D.  ઈરીપ્સ 
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64. જ૊ કટીંગ પ્રને ળકુંના એક્ષીસને સભાતંય ઩સાય થામ ત૊ ________ ભ઱ે છે. 
A.  વત્રક૊ણ સેક્ળન B. ઩ેયાફ૊રા 
C. હામ઩યફ૊રા D.  ઈરીપ્સ 

65. નીચેનાભાથંી કય ુપ્ર૊જેક્ળન લસ્ર્નુ૊ સાચ૊ દેખાલ આ઩ે છે?   
A.  ઓબ્રીક પ્ર૊જેક્ળન B. ઩યસ્઩ેક્ટીલ પ્ર૊જેક્ળન 
C. આઈસ૊ભેરીક પ્ર૊જેક્ળન D.  આભાથી એક઩ણ નહી 

66. થડુ એન્ગર પ્ર૊જેક્ળન વસસ્ટભભા ંઉ઩યન૊ દેખાલ ________ આલે છે. 
A.  સાભેની ફાજુની નીચ ે B. સાભેની ફાજુની ઉ઩ય 
C. સાભેની ફાજુની ડાફી ફાજુ D.  સાભેની ફાજુની જભણી ફાજુ 

67. જ૊ ઩૊ઈંટ X, HP ની નીચે અને VP ની આગ઱ હ૊મ, ત૊ ઩૊ઈંટ X ________ ચયણભા ંહળે. 
A.  પ્રથભ B. ફીજા 
C. ત્રીજા D.  ચ૊થા 

68. ડામયેષ્ક્રક્સ પ૊કસ ભેથડભા ંજ૊ એસેન્રીવસટી ૧ હ૊મ ત૊ ________ ભ઱ે છે. 
A.  ઈબરપ્સ B. ઩ેયાફ૊રા 
C. હામ઩ય ફ૊રા D.  આભાથી એક઩ણ નહી 

69. રહડન યેખા________ તયીકે દળુલલાભા આલે છે. 
A.  સાકંડી ડળે યેખા B. વલળા઱ ડળે યેખા 
C. રોંગ ડળે ડ૊ટેડ વલળા઱ યેખા D.  રોંગ ડળે ડફર ડ૊ટેડ વલળા઱ યેખા 

70. ઓથોગ્રપીક પ્રક્ષે઩ણભા ંનીચનેાભાથી કંઈ ફને્ન દેખાલની જ૊ડી રફંાઈન ુભા઩ દળાુલે છે. 
A.  ડાફી ફાજુન૊ દેખાલ અને સાભેન૊ 

દેખાલ 
B. ઊ઩યન૊ દેખાલ અને સાભેન૊ દેખાલ 

C. ઊ઩યન૊ દેખાલ અને ડાફી ફાજુન૊ 
દેખાલ 

D.  નીચેન૊ દેખાલ અને જભણી ફાજુન૊ દેખાલ 

 

************** 


